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(1) =eH
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(1) &H () =fe

(3) T (4) S

As per the Ministry of New and
Renewable Energy, the rank of
Rajasthan in Grid connected solar
power upto 2017 is

(1) First (2) Second

(3) Third (4) Fourth

Which of the following forts of
Rajasthan is included in the World
Heritage List of UNESCO ?

(1) Taragarh Fort (Bundi)
(2) Jaigarh Fort

(3) Junagarh

(4) Amber Fort

Maharani Amar Kunwari was the wife
of king Maharao Buddhasingh of Bundi
and she was the sister of

(1) Mirja Raja Jaisingh
(2) Raja Mansingh
(3) Sawai Jaisingh
(4) Bharmal

Whose deeds of bravery have been
described in the ‘Rawale of Beethu
Meha’ ?

(1) Gogaji (2) Ramdeoji
(3) Tejaji (4) Hadabuji

To which age does the artistic
splendour of Rajoregarh belong ?

(1) Chauhan
(2) Gurjar-Pratihar
(3) Guhil-Sisodia
(4) Rathore

‘Champakakali’ ornament is worn by
women on which part of the body ?

(1) Ears (2) Arms
(3) Neck (4) Waist
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7. g feer offm, dieww, srt
TE T it fore fadsht @
TERAE ?

(1) EErE i
(2) 3reTer el
(3) <aTg Aeft
4) 3hrm

8. Udts 9wl vefan wrar & TS s
& ?

() Tawifis  (2) T
(B) TWIFH () WS
9. == gafa it .
(A) PIHTEE (1) d= W
(B) YEEA A (i) A9 HY Jgemd
(C) T (iii) S3fer wg
(D) = (iv) gforam Tom.
?o

A) B) ©) D
(1) Gv) (i) () @)
(2) @) G Gi) @Gv)
@) O @v) @) (ii)
@ (@) (@) () (@v)
10. “gufea” w=ng ?
(1) T Aeft
(2) HIaferdl s a9
(3) anfeardt it 1 Imyyor
(4) < ™

11. =93 e oo = vefl

A

(1) T Rt Aisad -

() MUk M oad -

(3) TP dERH -
Badt

(4) TS Irefare B —
ELA

00 (G.x. & Statistics, Economics & Mathematics)

10.

11.

Famous painter Dheema, Meerbaksh,
Kashi and Ramlakhan were associated
with which school of Rajasthan
painting ?

(1) Shekhawati School

(2) Alwar Scheool

(3) Deogarh School

(4) Unniyara School

Who was the founder of Medatia
branch of Rathore dynasty ?

(1) Rao Ratnasingh

(2) Rao Duda

(3) Rao Chandrasen

(4) Bhojraj

Match the following :

(A) Kuchaman (i) Lachchhi Ram
Khyal '

(B) Shekhawati (ii) Tejkavi
Khyal Jaisalmeri

(C) Rammat (iii) Banshidhar

Bhatt
(D) Tamasha (iv) Dulia Rana
Codes :

@A) @) (©) M)
1) Gv) Gi) G) @)
@ @ Gi) Gi) Gv)
(@) @) @(v) (i) (i)
@ @ i) () Gv)
What is ‘Ghuraliyon® ?
(1) A style of dance
(2) Musical instrument of Kalbeliyon
(3) Tribal Bhil’s Jewellery

(4) Folk Drama

Identify the false facts among the

following :
A B

(1) Moosi Maharani Ki - Alwar
Chhatri

(2) Gopalsingh ki — Karauli
Chhatri

(3) Ramgopal Poddarki — Ramgarh
Chhatri

(4) Ramgopal Paliwal ki — Bikaner
Chhatri
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13.
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16.

Recently Prime Minister Narendra
Modi was honoured by the highest
UAE Civil award, which is known as

(1) UAE Medal

(2) Mohammad bin Zayed Award
(3) UAE President Award

(4) Zayed Medal

Lok Sabha Poll 2019. in Rajasthan in
two phases are respectively in

(1) fourth week of April and first week
of May.

(2) fourth week of April and second
week of May.

(3) fifth week of April and first week
of May.

(4) fifth week of April and second
week of May.

The lowest number of Lok Sabha seats
for the Lok Sabha Election 2019, out of
the following state is in :

(1) Sikkim (2) Goa

(3) Manipur (4) Meghalaya

Which of the following renowned
player recently joined Bhartiya Janata
Party ?

(1) Bajrang Punia

(2) Gautam Gambhir

(3) Rohit Sharma

(4) Saurabh Chaudhary

For which game Ajay Thakur received
Padma Shri in the year 2019?

(1) Kho Kho (2) Kabaddi
(3) Table Tenis (4) Basket Ball
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3t grer & e farfaer Qan whiam 2018
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(3) #ama e

4) fE v e

frafaRed & @ 68 vdarigor & &7 o
Aot Syt & fo siaisie Afgen
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() IMHHRAT  (4) GEH AR

T 3T g ‘S’ W dAR R e,
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(1) ==t ! daet F= 3rest g v &

(2) st Bt quft R s ST
TG H

(3) I Y 1T HIUT AT A B

(@) == @t 3 = ok St uew
I U |
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) dEEe - frvTe

4) ==% L

TSI % J&g =rErefisr, 5 Tgei &1
3T et &Y TRt TR gan

(1) =13 3= e
(2) TTEETG I AR
(3) HA I AR
(4) wats =T, fesh
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19.

20.

21.

Which of the following is not from
Rajasthan in the top 10 successful
candidates of the civil service
examination 2018 result, recently
declared ?

(1) Subham Gupta

(2) Akshat Jain

(3) Shreyansh Kumat

(4) Shrushti Jayant Deshmukh

Who among the following was awarded
for her achievements in the field of
mountaineering on the International
Women Day, 2019 ?

(1) Poonam Sharma(2) Asha Jain
(3) Asha Jhajharia (4) Poonam Yadav

‘Bolo’ App is developed by Google
India to help

(1) Children read only Hindi better

(2) Children read all Indian Language
better

(3) People prepare their speeches.

(4) Children to improve their Hindi
and English reading skills

Which of the following air routes has
been started on 1% April, 2019 from
Kishangarh airport of Rajasthan ?

(1) Kishangarh -~ Delhi _

(2) Kishangarh -~ Ahmedabad
(3) Hyderabad - Kishangarh
(4) Chennai — Kishangarh

Chief Justice of Rajasthan, Pradeep
Nandrajog recently transferred to

(1) Bombay High Court
(2) Allahabad High Court
(3) Kerala High Court

(4) Supreme Court, Delhi
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(1) Gt ST o ST
(2) <At SRERET % T

(3) o A=A T ATD
(4) 3R o % JgiaH

frer s R, T ad 2wl % IgER IR
3T % ITIER R Wiew! @1 FeRia
TR :

Below
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15%

I 37 371 % araia, e # 25%
wiew oM & 3 &g frd % IgER
FA 25 W@ WRdE wed W
fReerels TR T A, A He 30-39 TS
et wieh! t wer, s e g ™

.a’ %

(1) 20 9@ () 259@
(3) So«@ @) 759@

AR Qq, Qy 3 Q; Freht mgftt 57 &
i =gl €, <t gt & He B
e 21 A S FHITeH eI B ?

() Q+Q3>2Q;
2 Q+Q3<2Qy
() Q1 +Q<2Q3
4 Q3-Q1>2Q

22.

23.

24.

For unequal class intasvals, a histogram
may be drawn for the frequency
distribution by taking heights of
rectangles as

(1) Cumulative frequency
(2) Class frequency
(3) Proportional to Class Intervals

(4) Proportional to frequency density

The following Pie charts exhibit the
distribution of overseas tourist traffic
from India, by the country and by the age
distribution of tourists during a year :

Below
30 Years
15%

If amongst other countries, Switzerland
accounts for 25% of tourists traffic and
it is known from official Swiss records
that a total of 25 lakh Indian tourists
visited Switzerland during the year,
how many total number of 30-39 years
old Indian tourists went abroad during
the year ?

(1) 20 lakh (2) 25 lakh
(3) 50 lakh (4) 75 lakh

If Q;, Q, and Qs are the three quartiles

of a frequency distribution, which of
the following relations between
quartiles hold if the distribution is
negatively skewed ?

() Q+Q3>2Q,
(2) Q+Q3<2Q,
(3) Qr+Qy<2Q;
4 Q-Q;>2Q,
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& e H vm o=l S @ TN S =M
Y fenets 6 40 knv/hr Y 1R & St R
IR feremmeryr & 3¢t & 9% 60 km/hr Y
fa @ quE It R | e i 59 H
sMaafa TR ?

(1) 50 km/hr (2) 45 km/hr

(3) 48 km/hr (4) 40km/hr
Yol =T x5 i=1,2, ... nH
oM <1’ | 3aq 91 fages 7 3t -1 9 3
2 | &7t 1 A foreeH B

(1) \f3 @) 4

®3) 5 @) 22

IR HEEET A, B, C 3 D % 34 Uiy
YT deh AT A W = e wy
B

A A B C D
e Yol 25 15 20 18
s (32 | s (3.6 24 3.0 3.6
e

I8 HHHT Srae S gl s fRR R, 2 |
(1 A ) B

3) C 4) D

o @ W X 9 Y F A wgarEy
o 0.6 B, A u AR v F 7L, Ef

u=1—%X3ﬁIv=%Y+2%,W
Tﬂﬂ-’:%’l"ﬂ

(1) 0.1 (2) -0.1

(3) 0.6 4) -0.6

AT X 3R Y & SravafRa =t 39 YHR 3
6 X 3R Y & o oo gum €, @
faddsrarsmad 782 7

(1) var(X+Y)=var(X-Y)

2) covX+Y,X-Y)=0

3) corr(X,X+Y):é
' 1

4 corr(X,Y—X)=$
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29,

A school -bus goes from the pickup
point to the school at a speed of
40 km/hr and comes back from the
school to the pick up point at a speed of
60 km/hr. What is the average speed of
the school bus ?
(1) 50 km/hr

(3) 48 km/hr

(2) 45 kavhr
(4) 40 km/hr

The mean square deviations of a set of
observations x; ;i=1, 2, ..., n about the
points 1 and —1 are 7 and 3 respectively.

The standard deviation of the
observations is :

1) 3 @) 4

3) 5 @) 202

A study of shares of four companies A,
B, C and D over a period of five years
showed the following details :

Company :A B C D
Average Price :25 15 20 18
St. Dev. of Price : 3.6 24 3.0 3.6

The company with the most stable share
is

(1 A
3 C

2 B
“4) D

If correlation coefficient between two
variables X and Y is 0.6, then
correlation coefficient between u and v,

1
whereu=l—%Xandv=§'Y+2is:

1) 0.1 2) -0.1
3) 0.6 @) -06

Let X and Y be two uncorrelated
variables, then which of the following
is incorrect if X and Y have same
variance ?

M var X+ Y)=var(X-Y)

2) cov(X+Y,X-Y)=0

B) cor(X,X+Y)=

4) cor(X, Y-X)=

-5



30. I =W x 3R y & " wewwH

31.

32.

33.

ﬂ“ﬁ%—l %,?ﬁyaixthww
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o HE G g
(1) by, >b,

@) b,<b,

(3) by,.b, =-1
4) byb =1

awwm3x—2y=53ﬂ18yv3x
=7g A TE & | T x 3N y & Ared 3R
x 3R y o HE TgHEE OIS SHUST: B
(1) 2,33M025 (2) 2,33W0.5

(3) 3,23M05 (4) 3,23W0.25

e gafd Rrges wifisd a9@ B
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¥ Ve ferm e @ 1Al Hy 6 =1
1 H, : 0 =2 % folia wlgm s % ford
ifereh &1 x > 0.8 B, At wieror 61 3™
BT
(1) 0.02
(3) 02

ﬁmmaﬁuﬁ;q:

T QDT o WL % SER B T TE0T

wae t g A & T e sifvemomd

EIICIES

() wivest &1 w39 yam= €
THfEE & g =R |

(1) gufdat & A+ foem Fa aun
T g =R |

OIADAHE A /AFFATRNR/E ?

(1) e (D)

(2) e (1)

(3) S ()T AN FEE |

@ FAOTIRADFEE |

(2) 0.04
@) 0.8

30.

31.

32.

33.

If the correlation coefficient between
two variables x and y is —1, then the
relation between regression coefficient
of y on x (b,) and the regression

coefficient of x on y (bxy) is
(1) by,>b,

(2) by, <by

(3) b, b ==l

4) by, b, =1

The two lines of regression are given by
3x -2y =15 and 8y — 3x = 7. The means
of x and y, and the correlation
coefficient between x and y are
respectively :

(1) 2,3and 0.25
(3) 3,2and 0.5

) 2,3and0.5
@) 3,2and0.25

One observation is drawn from a
population with probability density
function _
f(x,0)=0(1 -xP°-1;0<x<1
If the critical region for testing H, : 6 =1
against H, : 0 = 2 is x > 0.8, then size
of the test is
(1) 0.02
3) 02

2) 0.04
4) 0.8

Read the following statement :

In testing equality of two population
means using student’s t test, the
following assumptions are made :

(I) Samples should be drawn from
normal populations.

(II) Population variances should be
known and equal.

Which of (I) and/or (II) is/are correct ?
(1) Only (I) is correct.

(2) Only (I1) is correct.

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct.

00 (G.K. & Statistics, Economics & Mathematics)
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34.

33.

36.

A critical region for testing simple null
hypothesis  against the  simple
alternative hypothesis is said to be
unbiased for probability of Type-I error
a and probability of Type-II error B, if
(D a+tp21

2) a+p=<1

3) atp=1

(4) None of these

A random sample of size n is drawn
from N(, 02); W is known.

1 n
3 g . — )2 2R
IfS & ié l(xl 1) and S (n—1)

n
Y (x;—-%)>, then 100 (1 - )%
i=1

confidence interval for o2 is given by :
{

ns? ns?
2 w2
X ma2) X @l1-w2)
/
(n—1)s2

(n-1)s2
sz (n-1,0/2) 12 (n-1,1-w?2)
(

M

2)
nS2 nS?

? 2
(P oar X @i-a

(4) I]S2 1182 ]

2 * 2
X a2y X (@02

3

The following table gives the prices and
quantities of three commodities for the
base and current years :

Base Current Year
Commo- -
dities Yeax
Price | Quantity |[Price| Quantity
A 2 2 2 3

B 3 X 4 2

C 2 4 4 y

If Laspeyers. and Paasche’s Index
numbers are in the ratio of 28 : 27 and

the Fisher’s Ideal number is \17/3, the

values of x and y are respectively :

ey @ 23




3.

38.

39.

40.

¥ 2015 3 2016 %, T4 2010 T YR
A §U, SUMIHT Yo YIhich HAT: 320
34008 199 2016 F o, 9 2015
JMER ¥ HA Y, ITHIHT Hod Yahish
U

(1) 80
(3) 125

(2) 100
@) 128

frafafea Re mw g@ a8t & s« Aoft

JATehe! A ITH o1 INT 1 = J1E B
15, 24, 18, 33, 42, 36, 45

(1) 19,21,25,27,31

(2) 19,25,31,27, 41

(3) 19,25,21,37,41

4) 19,25,31,37,41

frefrfaa wut w1 ufed

(A) 751 <t g wifw = fuffa s@ &
ford Frate gereis w1 vEM gaT ? |

(B) 3UNIHI Hed FAHIh 1 TN oo
ECUERNCRICIE A

(C) H31 Thifd & 3ehere & ford v #
T&q: Ui qod EHh BT AN
Bars |

IRNFEFA AT BT I AT E ?

(1) s (A) 3R (B)

(2) %A« (B) 3R (C)

(3) %= (A) 3R (C)

@ =ft (), B) 3R (C)

¥ 2007 ! MER ¥ A gY s
el W muia Sl wEfieRtor

Y, =20 +2t® | 9 2012 Ft ER a9
A R 3fer geftertor fean s

1) y,=30+ 10t
2) y,=30+2t
(3) ¥,=20+10t
(4) y,=20+2t

37,

38.

39.

40.

The consumer price index numbers for

the year 2015 and 2016 with the base

year 2010 are 320 and 400 respectively.
The consumer price index for 2016
with 2015 as the base year would be

(1) 80 ) 100
@) 125 @) 128

For the following time series data for
seven years :

15, 24, 18, 33, 42, 36, 45

The three years moving averages are
(1) -19,21,25,27, 31

(2) 19,25,31,27,41

(3) 19,25,21, 37,41

4) 19,25,31,37,41

Read the following statements :
(A) The cost of living index numbers

are used to determine purchasing
power of money.

(B) The consumer price indices are
useful in wage negotiations.:

(C) The wholesale price index is used
as the main measure of inflation in
India.

Choose the correct statement :
(1) Only (A) and (B)

(2) Only (B) and (C)

(3) Only (A) and (C)

(4) All(A), (B)and (C)

The trend equation for yearly data, with
the year 2007 as origin is given by

A
Y, =20 +2t

The trend equation with 2012 as origin is :

(1) y,=30+10t
2) y,=30+2t
(3) y,=20+ 10t
4) §,=20+2t

00 (G.x. & Statistics, Ec

ics & Mathematics)

e — -



41, Te Suft o Teehi i e, el Faifa
FH F el A, I Haw 17 =D F,
ﬁfﬁq:
Hie™ [
(A) uafa

Hie™ 11
() syafea amifies
ugfa
(ID) B fageiwm
(1) afde fewtw

gfa
(IV) = "ied ugfa

(B) TaH geh
(C) ==hg aes

(D) A=
Hdh

Hﬁﬁ’l@mﬁ?ﬁw
(A) B) (©) D)

MHavy a (@

@ avy O da

G)av) am Jn @

#Iv) a @an @

frafeRad weet oY afed

(A) wrure favewe & foR fafde 1o
S, Yo @ H A I TEH DT
R |

(B) HIehlehd 7o L 1 SRANT, & &1
e G ger o PR B @ |

(C) TaRE gog &, Y& T & AT
! hY INe A B |

SR FUA A A B A A T 2

(1) 9 (A)F (B)

(2) e (B)d (C)

(3) e (A) ¥ (C)

@) @it (A), (B) 3R (C)

Wﬁqxﬁﬂﬁa}ﬁﬁﬁ(x,xatl)@ﬂ’g

Mﬁﬂ@ﬁaﬁmﬁm%aﬁtmx
Wﬂ?ﬂa{%,ﬁmxaﬂw@ﬂﬂ:

q 2q
M T4 @ T3q
X

q 2q
@ 5.4 @ 3.4
X X
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43.

Match the components of time series
with their methods of determination
given in column-II :

Column-1 Column-1I
(A) Trend (i) Link Relative
Method
(B) Seasonal (ii) Harmonic
Component Analysis
(C) Cyclical (iii) Variate
components Difference
Method
(D) Random (iv) Method Moving
Component Averages

Choose the correct match :

A ® © O
(1) Gv) () @) (i)
@ (v) @ (D) (i)
@) (v) () () @
@) (v) (i) (i) (@)

Read the following statements :

(A) Specific death rate is the best
measure of mortality for general
analytical purpose.

(B) Standardized death rate is used to
compare mortality rates of two
regions. _

(C) The specific death rate ignores the
factors of differential mortality.

Which of the above statements are
correct ?

(1) Only (A) and (B)
(2) Only (B) and (C)
(3) Only (A)and (C)
@) All(A), (B) and (C)

If q, is the probability of a person dying
in the age interval (x, x + 1) and m_ is
the central mortality rate, then m_equals

q 2q
M T4 @ T34
X X

q 2q

® 54 O
X X



44,

45.

46.

fereft Tmfs o afe

(A) I€ TS & = P o L, |t
AT STfeThTY AT TSI HTeT
= T Stifaa @i |

B) ETWH X =1, A AW TR
IR & g @ & o, Faem
STCTRTSTI T Teh THE 3T aTed] it
H 370 3119 ot quia: wfaeenfia s
|

IRE A AT/ A RATE /8 ?

(1) e (A)

(2) el (B)

(3) &l (A)F (B)

4) TR (A)TAB)

A 82 sfcreene wfe wet ag e iR
o yfoedt wew w1 wwmwr g 3R
82 sl e agfes gferm %
wies AT o1 Se g, al

(1) s?<8]

2) s$i=s?

3) si>s?

(4) QI A B T AE R |

900 FehTSAT 1 Teh TATY T 200, 300 IR
400 3T & T ° fawfom femn
2 | 3 Tl Y 3hEl 1 A e
AN 3, 6 3 6 2 | I 40 I FT T
wfted, 9 sEan e § T R, @
Tk TR A g 9 a1l gfeesit & AW
m@ﬁ

(1) 8,16,16

@) 5, 15,20

(3) 10,15,15

@) 5,20,15
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For a population if

(A) NRR =GRR, all the new born girls
survive till the end of the
reproductive period.

(B) NRR = 1, then for a given fertility
and female mortality, a group of
new born girls will exactly replace
itself in the next generation.

Which of the above statements is/are
correct ?

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)
(4) Neither (A) nor (B)

IfS? is the variance of sample mean for

simple random  sampling with
replacement and Sg is the variance of
sample mean for simple random
sampling without replacement, then

2 2
(1) S7<8§;
() 88=5;

2 2
3) 5/>5;

(4) There is no relation between the
two.

A population of 900 units is divided
into three strata of sizes 200, 300 and
400 units. The standard deviations of
the units in the strata are known to be 3,
6 and 6 respectively. If a sample of size
40 is to be chosen using Neymann
optimum Allocation, the sizes of the
samples from each stratum are
respectively :

(1) 8,16,16

(2) 5 15,20

(3) 10,15,15

@) 5,20,15

00 (G.K. & Statistics, Economics & Mathematics)



47.

48.

49.

50.

51.

fraddsm o s Tem g ?

(1) T=8 wid=em hi ggar wedt ? afe
TR <1 AT HH BT 8 |

(2) TSI HT TA 3H TR AT @ 2
o st & 3fex w1 feror R
WY Bl b 3T A N T=B1 &
Tey feraor e gwa &) @b Ia1
AT 8 |

(3) T vidEE W, & a9l T
Y PR S T A A2 |

(4) 7= gioeea 1, 3reaE % 3idla am
et Tt hi Y 1S i fohelt
3 férs b 1= H 1 g =R |

Teraron i, weh = yfe=ga & siftres
&1 B 3 s =Rur ) ssEl & e
TEGEY TOTTeh BT
1 =
() T

(2) EdTcHS
(4) =BUTHSD

THiaT < T W Ra §, 9 3 gy
% TSIl i, ST g dofietor arfifem
& grr Jfrer 3R v wum s fomr
o7 | o5 o o 97 ity aifta fmar e 2
(1) 1950 (2) 1965

(3) 1969 4) 1972

WRASY H R ForT SR Y ST &
(1) =T YR R

(2) U= =N H

(3) cHautH

4) I €98

= 1 @ =l w1 F=ie wiferh sataw
T WA & ?

(1) Geieor s 3iR SrEe™ ym
(2) amIRTS GTfETeh! g3

(3) T o S

4) e Fifershi
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S1.

Which of the following statements is
incorrect ?

(1) Efficiency of a cluster sampling
increases if cluster size decreases.

(2) The clusters are so formed that the
variation within the clusters is as
small as possible and that between
the clusters is as large as possible.

(3) In cluster sampling, an entire
cluster is taken as the sampling
unit.

(4) In cluster sampling, every unit of
the population under study must
correspond to only one cluster.

The two stage sampling is more
efficient than the single stage sampling
if the correlation between the units in
the first stage is

(1) Zero
(3) One

(2) Positive
(4) Negative

Post-independence, the registration of
births and deaths was made compulsory
and uniform all over India through the
Registration of Births and Deaths Act. In
which year, the Act was passed ?

(1) 1950 (2) 1965

(3) 1969 4) 1972

The agricultural census in India is
conducted on :

(1) annual basis

(2) quinquennial basis

(3) decadal basis

(4) adhoc basis

Which of the following is not a division
of Central Statistics Office (CSO) ?

(1) Survey Design and Research
Division

(2) Social Statistics Division

(3) National Accounts Division

(4) Economic Statistics Division -
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e 1§ @ i ar | o 3 frada R
LR

(1) wferemem axg <t Hima & i
(2) I a5 < Hima § afad

(3) SuHIhT <ht 3 # uftada

(4) =g < FHra A ufed

ot RN o ar=ria we w6 AT o
T HHTRTEATR 7

(1) qoTaaT AegR

(2) YOI SeireER

(3) RN ST 1T Sl ATEER

(4) SRUTIC 1ot dTelT 3Tfreh AEER

afd % feream @ aredd su Rufa @ 2, 5=

Scaresh fd e =TEd §

(1) g < 3t T 9 5T I W

(2) T&g H AF wEn, 9 W T
HUYT b BRI

(3) THM hiHd W ] H SATGT HEAT

(4) g < SATET WEAT B FC HI |

= 4 @ it wEners arg e it
fafradid 2

(1) I &

() W

(3) +Tehe, AR T

(4) mist= Freior

feaffeada s o g e i 2 ¢
(1) Ted T HITH

) ot 1 arem

(3) SET T

(4) $ma fRran
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From the following which is not a cause
of shift in the demand curve ?

(1) - Change in the price of substitute
good.

(2) Change in the price of
complementary good.

(3) Change in the income of consumer.

(4) Change in the price of good.

What is the shape of demand curve of a
firm under perfect competition ?

(1) Perfectly Elastic

(2) Perfectly Inelastic

(3) Negatively sloped less elastic
(4) Negatively sloped more elastic

Expansion of supply refers to a

situation when the producers are

willing to supply a.

(1) larger quantity of the commodity
at an increased price.

(2) larger quantity of the commodity

due to increased taxation on that

commodity.

larger quantity of the commodity

at the same price.

larger quantity of the commodity

at the decreased price.

€)
@

Which of these is not a quantitative
method of credit control ?

(1) Bank Rate

(2) Repo Rate

(3) Cash Reserve Ratio
(4) Margin Requirements

Which of the following is not a function
of money ?

(1) Measure of Value

(2) Medium of Exchange
(3) Unit of Account

(4) Price Stability

00 (6. & Statistics, E
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= 3 & o o goem & Branfa
1 aTeft “deane Srdiey AT — g
St Srrsitfersnt forer w61 e IR 7
(1) &war fmior afit gf¥vemor

(2) SR SR

(3) TR I 3N GEIrT fwm
(4) IR Hfora efan

TSR §HR GRI wfiRedt Tomem

st 7 F 7g o oy s

FTHE GRS T <6 T & A

(1) F<E FN feprg Fy @ www
CAAR-A5d

(2) F=Rig iAo 3t forepra F o
I TR

3) ﬁwwwqarﬁcﬁaaﬁgm
=

(4) I g1 wiy & aft frge
434

A TSI Tew fie 7 @ 9 et
2017 % AR Y 7

(1) ®rerd 2) IR

(3) S @) Sugd

WIHTRITE 9] ST FSHT % 3t=mia fohant
shera s1geH - gl sia/argfa
ST /&t ot et RaTeren! @ waeh s
iform W yer i e 2

1) 50% (2) 60%

(3) 70% 4) 80%

TTEIT 4 9 2016-17 8 SIS &1 IeqTeH
gl -

(1) 183@M@eq

() 2319d@ e

(3) 196 W@ A

@) 2109/@ &
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From the following which is not a
component of “Deendayal Antyodaya
Yojna — National Urban Livelihood
Misson” as implemented in Rajasthan ?
(1) Capacity Building and Training
(2) Self-Employment Programme

(3) Social Mobilization and

Institutional Development
(4) Improved Policy Framework

For Mitigating Poverty in Western

Rajasthan, the government of

Rajasthan implemented MPOWER

with support of

(1) International Fund for Agriculture
Development & Sir Ratan Tata
Trust

(2) International Bank for
Reconstruction & Development &
Ambani Trust

(3) World Trade Organisation &
Gopichand Hinduja Trust

(4) International Monetary Funds &
Lakshmi Mittal Trust

Global Rajasthan Agritech Meet
(GRAM) was organised from 7t to 9th
November, 2017 at
(1) Kota

(3) Jaipur

(2) Udaipur
(4) Jodhpur

Under the Bhamashah Pashu Bima
Yojana, what is the percent subsidy on
premium of cattle insurance for
SC/ST/BPL livestock Breeders ?

(1) 50% 2) 60%
3) 70% @) 80%

In Rajasthan during the year 2016-17
the production of food grain was —

(1) 183 lakh tonne
(2) 231 lakh tonne
(3) 196 lakh tonne
(4) 210 lakh tonne
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2016-17 % W % fRR (2011-12) Hiw@t
W HHe W IAE § T % 'R
(2011-12) el T Thet T TR IUTG
ST I AT AT ?
(1) 2.93
(3) 7.93

2) 10.93
(4) 4.93
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Economic Planning means

(1) The allocation of economic
resources and the determination of
production by market forces.

(2) The use of monetary and fiscal
policy to solve economic

problems.

The allocation of economic
resources and the determination of
production on the basis of a plan

3

“4)

Government  permission  is
necessary to establish an industry

What was the ratio of Rajasthan’s
Gross State Domestic product at
constant (2011-12) prices in India’s
Gross Domestic Product at constant
(2011-12) prices in 2016-17 ?
(1) 2.93 (2) 10.93
(3) 793 4) 493

What is the target of fiscal deficit as a
proportion of Gross State Domestic
Product of Rajasthan for the financial
year 2019-20 as per budget statement
given by Chief Minister in Vidhan

Sabha on 13 February 2019 ?
(1) 32 2) 3.0
3) 2.7 4) 3.8

When the demand curve is vertical, it
represents —

(1) Perfectly elastic demand
(2) Perfectly inelastic demand
(3) Unitary elastic demand
(4) Relatively elastic demand

In a perfectly competitive market,

(1) marginal revenue is zero.

(2) marginal revenue is equal to
average revenue.

(3) marginal revenue is less than
average revenue.

(4) marginal revenue is more than
average revenue ¢

00 (G.K. & Statistics, Economics & Mathematics)
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(1) =e1gl @& 9

(2) @

(3) @F grr &t 78 wrafy @7 aesiig
Termn

(4) FaTaen IvE

7= 4 & 1 <t wrel i Reeeftgras
Frenfies Hifer wiEem ¥ R fixfa
HeE JGH T R ?

(1) TRrA fowm S

(2) favads

(3) T TR

(4) I TWHR

| R Fimdt | T s W A 3y
FAA A R A B AR ?

(1) 2011-12
() 2004-05
(3) 2000-01
(4) 1999-2000

“WTHTRITE USTTR o AT’ o daa Rifdra
ST Zamait sl e 0 % R/l
8 wlfmm Hga &I @ W g
ToRHT 0T IUTe AT AT R 7

(1) 109/

() 15/@

(3) 20@r™

4) 259m@

TPOAT 2012 % IFIER NG b HeA
Y W TSTerT T T frar & ¢

(1) 11.27%

(2) 1527%

(3) 1027%

4) 20.27%
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Which of the following is not included in
National income ?

(1) Wages and Salaries
(2) Profit

(3) Imputed rent on self-occupied
properties
(4) Old age pension

Which of the following external agency
is providing financial help for Delhi-
Mumbai Industrial corridor project ?

(1) Asian Development Bank
(2) World Bank
(3) German Government

(4) Japan Government

For estimating national income at
constant prices, which is the present
base year ?

(1) 2011-12

(2) 2004-05

(3) 2000-01

(4) 1999-2000

How much bank loan is provided on
subsidised interest rate of 8 percent
under Bhamashah Rojgar Srijan
Yojana to benefit young educated
unemployed youth ?

(1) 10 lakh

(2) 15 lakh

(3) 20 lakh

(4) 25 lakh

What is the share of Rajasthan in total
livestock of the country as per the
livestock census-2012 ?

(1) 11.27%

() 1527%

3) 10.27%

4) 20.27%
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it

76.

The value of
05%x5+025%x05+05x4+0.5x0.75
(1) 10 (2) 2

3) 15 4 25

1
A ribbon of length 57 m is cut into

small pieces each of the length % m.
Number of pieces will be :
(1 5 (2) 6
37 “4) 8

If 90% of x is 315 km, then the value of

xis

(1) 325km (2) 350 km
(3) 405 km (4) 340 km
Simplify

EEHE
) @4 @ GT
o o

Which of the following is not true ?

(1) Rational numbers are closed under
addition.

(2) Rational numbers are closed under
subtraction.

(3) Rational numbers are closed under

multiplication.

(4) Rational numbers are closed under

division.

00 (G.K. & Statistics, Economics & Mathematics)
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If the cost price of 10 shirts is equal to
the selling price of 8 shirts, then which
of the following is true for the
transaction ?

(1) Profit of 25%
(3) Profit of 20%

(2) Loss of 25%
(4) Loss of 20%

Both x and y are in direct proportion,

then ; and ; are

(1) in direct proportion.

(2) in inverse proportion.

(3) neither in direct nor inverse
proportion.

(4) sometimes in  direct and

sometimes in inverse proportion.

Let abc be a three-digit number. Then
abc + bea + cab is not divisible by

(1) a+b+c 2 3
3) 37 “4 9

5
If \[x +“%= 31, then which of the

following can be the value x ?
(1) 529 (2) 931
3) 729 4) 841

The age of a boy is one-fifth of the age
of his mother and the sum of the ages
of the son and the mother is equal to the
age of the father. After 15 years, the
sum of the ages of the son and his
mother will be four-third of his father’s
age. Then the ratio of the present ages
of son, mother and father respectively

(1) 1:5:7 (2) 2:10:10
3y 1:5:6 4) 2:8:9
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(1) A.pptx

(2) A.dot

(3) Aixt

(4) A.pdf
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(1) Ctrl+0

) Ctul+M

(3) Cul+N
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(1) i

(2) T

(3) T2
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A file prepared in M.S. Word is called
(1) Log

(2) Archive

(3) Text

(4) Document

By default in M.S. Office header or
footer is displayed

(1) on first page

(2) onevery page

(3) on last page

(4) None of these

Which one of the following is correct
file format of M.S. Office PowerPoint ?

(1) A.pptx
(2) A.dot
(3) Atxt
4) A.pdf

Which of the following shortcut key is
used to insert a new slide into the
current presentation ?

1) Ctrl+0
@) Ctul+M
(3) Ctrl+N
4) Ctrl+F

Which of the following is a SmartArt
type of M.S. PowerPoint presentation ?

(1) Graphics

(2) Text

(3) WordArt
(4) None of these
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Which one of the following chart is not
present in M.S. Excel ?

(1) Structure chart
(2) Column chart
(3) Bar chart

(4) Doughnut chart

In which bar the currency symbols are
used in M.S. Excel ?

(1) Formatting Toolbar
(2) File Toolbar

(3) Insert Toolbar

(4) None of these

In M.S. Excel, column in a table is

.called as

(1) Database
(2) Attribute
(3) Tuple
(4) Data

URL is

(1) Uniform Resource Locator
(2) Unified Resource Locator
(3) Uniform Research Locator

(4) Unified Review Locator

World Wide Web is proposed by
(1) Bill Gate

(2) Bill Rogers

(3) Tim Berners Lee

(4) None of these



92.

93.

9.

9s.

Aefifeg & @ 39 @ 9RH &
2feroram w o safeE e ?

(1) <h ke
2) W SRE
(3) =@ kA
(4) <foflt sraed

WIS 3T % IR 3R 1000-1300 Wit H
Faré wg 150 Tt aut arer welt &
P THR ST IR S ?

(1) T §FEH

2) Tl qolarft a=
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Which of the folldwing is located in the
southernmost part of Rajasthan ?

(1) Luni Basin

(2) Mahi Basin

(3) Banas Basin

(4) Southern Aravalli

Which type of forest is found around
Mt. Abu where average rainfall is
above 150 cm and elevation is 1000-
1300 metres ?

(1) Dry teak forest
(2) Mixed deciduous forest
(3) Sub-tropical evergreen forest

(4) Coniferous forest

Which of the following pair is incorrect ?

River Dam
(1) Kothari - Meja
(2) Ravi-Beas — Nohar
(3) Banas — Bisalpur
(4) Morel — Panchana

Which type of soil is found in Pali,
Nagor and Ajmer districts ? '

(1) Yellowish Brown

(2) Grey Brown Alluvial
(3) Red Loam

(4) Deep Medium Black
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THE & TR T
(A) == () =€
(B) <t (i) =t
(C) wrgt (iii) smouft
(D) 19 (iv) 3™
He:

A ® © @O
(D) (i) (@) () (@Gv)
() (v) (i) G (@)

@) @ Gv) @) (i)
4 (i) (@) @Gv) (i)
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(1) =wm

(3) ARETSt

(1) gt R Temrsht
(2) = fireq

(3) wrEe W TeEh
(4) TSt wrE Rieg

‘% ferehra Rl fohw ad o Ry e
™7

(2) qrA
(4) TreTE

(1) 1977-78 (2) 1983 -84

(3) 1991 -92 (4) 1980 - 81

2011 6 SOET & FTHR TRY T

Treftor 3T St e o R oft 7
pICi| =

(1) 67.3% - 762%

() 71.7% ~  78.5%

(3) 61.4% - 79.7%

4) 64.8% - 72.5%
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Match the following with the help of
codes given below :

Main River
(A) Chambal
(B) Luni
(C) Mahi
(D) Banas
Codes :

A @
M Gi) @)
(2) (v) (i)
B O (v)
@) Gi) (@)

Tributary
(i) Bandi
(i) Mansi
(iii) Wapani
(iv) Anas

© @D
(i) (v)
i) (@
(i) (iii)
(iv) (i)

Which of the following is not a sheep
breed in Rajasthan ?

(1) Magra
(3) Marwari

(2) Pugal
(4) Malvi

‘Usta’ Art is related with
(1) Wood Carving Work
(2) Leather Craft

(3) Marble Carving Work
(4) Decorative Lac Craft

In which year ‘Desert Development
Programme’ was launched ?

(1) 1977-78 (2) 1983-84
(3) 1991-92 (4) 1980-81

As per Census 2011, what is the literacy
rate of rural and urban areas in

Rajasthan ?

Rural Urban
(1) 67.3% - 76.2%
2) 71.7% - 78.5%
(3) 61.4% - 79.7%
(4) 64.8% - 72.5%
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